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I LR G ZA(HE) HIER QL4
=R SAF DMESZHUHMN datotd A= == < ot B & =0
ot OHE =& Z&At Zt Y= 22 Mg s 22 LICE.
O M=gXt : 2024. 3. 4.
O ZAI[ZE 2024, 3. 4. ~ 3. 31.
AAHE AAHE
AAE FANE R ETTPs & AA & FA7E R ETTYSes
N R S CE
AWAF  |100CFU/meol3t 0 0 |8 | LELLEETEE ooommnclst | BAE | BUE
FHATT | BHE/100m| EHE | EHE |32 | L4-Tolg 0.05mg/tolst | 2EHE | BHE
o) gt EAE/100m | =HE EHE |33 | #FdAa 4.0mg/¢o] 8} 0.75 0.5
b= 0.01mg/eclst | 2EHE EHE (34 | FEYZEA 0.1mg/eo] &t 0.019 0.022
B 1.5mg/telsl | BHE BHE |35 | FEE¥E 0.08mg/eo] 3} 0.015 0.017
H] 2 0.01mg/eclst | BHE BHE |36 | HEEOEEZ 0.03mg/eo] 3} 0.004 0.005
A 0.0lmg/tolst | BHE | BHE |37 | vp=wIzade  oimielst | EHE| BHE
e 0.001mg/tolst | BHE | BHE (88 | F=Zstol=do|E| 0.03mg/teldt | 0.0017 | 0.0030
Al 2t 0.01mg/telst | BEE EHE (39 | uErekEUE"|  0.1mg/Loldt =dE | Eds
e 0.05mg/to)3l | BHE EBHE (40 | uZz=cEU=E"]  0.09mg/te]3 | 0.0014 | 0.0017
myUeldAai| 0.5mg/eo)st | BAHE EHE |41 | =azz=zaa8uEg | 0.004ng/telst | 2EHE | =2dHE
A AL 10mg/eo] 3} 13 1.2 42 | dRoAgA = 0.1mg/eo] 3t 0.012 0.019
FIEH 0.005mg/eolst | BHE | BEAE |43 | EEUdslo= 0.5mg/tolst | EHE | BHE
HE(ED) 1.0mg/¢o] 3} 0.01 0.01 4 | H = 300mg/¢°] 5} 31 31
HE24Y 0.01mg/¢el8 | 0.001 0.0012 |45 | PgzHAbZ-ERHZ 10mg/eol st 1.0 1.
#H = 0.005mg/tolst | BHE EHE |46 | WA 9] oA e ol
tholopx = | 0.02mg/eelst | 2HE | EHE |47 | % e NE A 2%
o} 2HE & 0.06mg/telst | 2EE | 2HE (48 | & Lmg/¢o] 8 Eds =4
AU EZE| 0.04mg/t0l3 | EHE | EHE |49 | Y = 5% olat =ds| =4
F}nrg 0.07mg/eolst | EHE | 8HE |50 | A Al 0.5mg/eelst | BHE | BE
Lin T oamgielst | BHE | BHE |51 | Faolesk: 5.8 ~ 85 7.3 73
datee2 00ng/olsl | BHE | BHE (52 | oF A Smg/tolsl | BHE | 0.004
egzzzdd| 0.03mg/Lo)st | EHE EHE |53 | Aol 250mg/t°] s} 11.6 11.3
vz 2ve 0.02mg/eclst | 2EHE | 2HE |54 | STUAFE 500mg/¢o] 3t 60 63
il 0.0lmg/telst | 2dE | 2HE |55 | & 0.3mg/eclst | BHE | BHE
74 0.7mg/eolst | BHE | BHE |56 | ¥ 1t 0.05mg/tolst | 2EHE | EBHE
ofl & il 7l 0.3mg/eolst | BHE | BHE |57 | g9 = 0.5NTU®] 5} 0.04 0.05
24 0.5mg/eolst | 2HE | 2HE |58 | Hlole 200ms/¢o] 3 6 6
Lhu T 0.03m/el 3 | BHE | BEE |0 | 2E O2mg/eolst | BHUE| BUE
AL stER A | 0.002mg/t0]5 | BHE 28
SRS A | 42 S AT 43 M3
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